#12Pre-Calculus Review TEST 2.2
   Name_______________________

Non-Calculator Portion:

I.
Sketch the graph of the inverse functions, then state the domain and range of each.  
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Find the EXACT VALUES for the following.  If the FINAL answer is an angle, give it in degrees.
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	SIGNS OF TRIG FUNCTIONS
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Calculator 

Evaluate to the nearest four decimal places if a trig. value  OR to the nearest tenth of a degree if an angle.
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Verify the following identities:
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Prove each of the following using the Identities 
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